e

W\W\«WQA 3 9OMIITO[ | b _ E 3 HWeL[]]
N, 6% 88-0S01 1D0.I 0710 — rendorey
151 " - 79 9¢ %3 0LV | 6001 91 07’10 (HY/ $71) 199Ad1 BIw (G HE) 91-001 €11 BUT IIOHBID
€eL = 9 9¢ 33 0LY 6001 0l * 0710 (HYY 571) 190AdL Bu (GE| HE) 01-001 €11 BIT YISHEI ]
6C - 79 9¢ gee 0Ly 6001 0l 07’10 (HYf 091) 190Ad1 BI (8.1 He) 0[-0S 1 €L BIT MIOHEID
6CL - 79 9¢ see 0LV 6001 01 07 Lo (HY 011) 190Ad1 61 (87 He) 01-001 €11 BUI NISHBLD
LT = 79 9¢ gee 0L 6001 ST 07’10 S10T-6STEE LOOT d-1-10- ST-0ST MRHRID
001 = 29 9¢ cee 0Ly 6001 oy 0210 S10T-652€E€ LOOI d-1-10- 91-08 OHBID
00S1 - 29 9¢ gee 0Ly 6001 9] " EE ‘ 0719 S10Z-65Z€E 1DOI d-1-10- 91-0G MoHRID
L91 - 29 9¢ cee 0Ly 6001 0l = - 0719 S10Z-652€€ 1.DOI d-1-10- 01-0S ToHRLID
891 = 29 9¢ see oLt 6001 9°0 07’19 S10Z-6S2EE LDOI d-1-10- 90-0S MoHRID
L9E1 = 79 9¢ cee 0LY 6001 91 07’19 S10Z-652€E 1DOI d-1-10- 91-0F MRHRLD
4
« WO % elIAN
¥ 0/ ‘OMHOXAD ‘OUHOHHUITA ‘ULD VIIN <« BIIN .
q9LO0OMCKd Q0H Q0H ORAMOL ﬁ::o:.m:,_.oacoo MSPQNE o+ ‘QUHALERT . _‘\,_u:,m._bd OQMHIhBHEO0QO QOHAOID A
wm:&wd> qIURLUDO0HL() qIALUIOHLD :odw&ﬁ Q0H :m:,_@o_m SROH QOHHO0IN A
5 = BPULBLOW BHALOHOED QUMOOhHUHEXIA
049-1r0)|

?.Z. "WOY ‘QOHHAWVIOLAI ADD0MI? mOmﬂEm
H\OmOh NUMDOHUHYIIL HOUV s, i&UMOMUOE 9LOVIrdO‘€0LTY T AQVE:.:_\foy:_ah:mUvv 00O :29dre 010 U AUhERALY

mige1o01 dogoIo]] :9MHEIOHI0 LHIWAMOY
"1 IT°60°01 HeErdg "I'H-O L1100000 N Ld oOuoVv E

[ONHIIMOWOU [ JICOWE™ [JNJN WR][ DAUAOX [IWOQ BDNDQ09DEOAUNDIC A dnvnevirg 2" /00009

«arpwa [ywod[] sBNHDUWOM BDHHIIUDQ0IENOA[» 00O




